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Please check that this question paper contains 8 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i)  There are 22 questions in all.
(ii) All questions are compulsory.

(iii) Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

(v)  Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vi) Question numbers 21 and 22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

(vii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.

S TN NS : 11

1. TORH U ST arelt afedai & ST S o 3TER 3 TE THR A 9 § 2 2+3=1
Which are the two major types of settlements according to their shape found in the
world ?

2. SFUMT 2011 % 3TER AR & 9o HH TGS a6t T59 FH A fE@w | 1
Name the state of India having the least share of population according to the Census
2011.

3. XA AL HeTHIT WITehoT 1 q&T e o1 € 2 1

What is the major function of the National Highways Authority of India ?
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faer TR T WIS WHEUT % WUl BF %, T o SRIeR STER 1 § ? Uh RO W Hiw | 1
Why has gathering little chance of becoming important at the global level ? Explain

one reason.

e e | It {ohd Yo e’ 9 = 8 2

How is ‘node’ different from ‘link’ in transport system ?

YT P Y, HT ] H IUCTH EAT i T 6 MER T I HioT |

Classify rainfed farming on the basis of adequacy of soil moisture during cropping

s€ason.

“TF U AT Ueh 3= ToIehidd =R SToT{rT § § Teh & 1 =31 T S84y |

“The Volga is one of the most developed inland water-ways in Russia”. Justify.

3T T T 1 WEEHIgE® S BT 3R $Eh

(8.1) S Fw MO WA § @ T eT A qsum
(8.2) TH T&T ! Tl T TaRIoanat o Sooid iy |

Study the map given below carefully and answer the questions that follow :
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(8.1) Identify and name the canal shown in the map.
(8.2) State any four features of this canal.
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e ; FEfAtEd uee Fae gieata whenteat & e 7.9, § % ©H WE
e Sicl-He ANH ! A i febel i foretoarat st wee i |

Note : The following question is for the Visually Impaired Candidates Only, in lieu

of Q.No. 8.
Explain any three features of the Great Lakes — St. Lawerance Seaway.
9. HITHUT LN i foheel i [IRITaT3t 3 Jui i | 3x1=3

Describe any three features of Konkan Railway.

10. TS T STRE T AHHHTEE 3749 HiTT 3T 39 A T T oo SR feaf@w: 1+2=3
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(10.1) @ 9-39arT o | gaitys ghg & vgta o K@ 70 € 2 39 Iy ¥ @
yfeafed & | foha- o o gfg g2 € 2
(10.2) =9 Tl | el g8 UG & foTT STRETr fhel J1 RO i T HitT |

Study the given diagram carefully and answer the questions that follow :

Changes in Shares of Land-use Categories in India : 1960-61 45 46
and 2008-09
3
18
12 s
9
5 6 6 4 6 4 4 4
3
Forest Area Barren Permanent Culturable Fallow Current Net Area
under and Pastures  Wasteland other Fallow Sown
Non- Waste- and than
agricultural  Land Tree crops Current
Use
& 1960-61 Il 2008-09 Fallow

(10.1) Which land use category has shown the highest increasing trend ? What
percentage in reporting area has increased in that category, during the given
period ?

(10.2) Explain any two reasons responsible for the increasing trend in that category.
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e ; FAfeiad 7o haet gieattaa adientemt & fofg ve T 10 & =F W E
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Note : The following question is for the Visually Impaired Candidates Only in lieu
of Q. No. 10:

Which land use category has shown the highest increasing trend in India ? Explain any
two reasons responsible for this increasing trend.

11. 9RA H WHOT 3R TR SRl § 3 SR 37 T HiT | 3x1=3

Explain the three basic differences between rural and urban settlements in India.

12.  “Upld 3R OH AqUT dd € 7 SUIRT SRV Aied 39 o il =F8Td 8T | 3x1=3

“Nature and humans are inseparable elements”. Justify the statement with suitable
examples.

13, o UgHUT SEAtastd, WSt Y gt & feld agd aT-ere aidr & 1 U8 ol o= geat
! AT HIT AT T 8 T 3 i TH0T T T | TeTI & qohl & | 3x1=3

“Air pollution is very harmful to flora, fauna and property.” Explain any three values
which can help in maintaining pollution free air to some extent.

[a¥a

14, TOR | Forardl URERehT o Sia ST & aRiehl 1 Jui T | 5x1=5

Describe the way of life of nomadic herders in the World.

15. 92 UM W T S oot e fafye ferfaat & g &t s € 2 sirenfe feafd

Tferd Shie aTet Tohal T hIehl hl T SHITST | 1+4=5

Why do large scale industries choose different locations ? Explain any four factors
which influence the industrial location.
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16.  “HrIE-qut ST Ueer o o & o0 STRETE bl Uie el &l A HIT | Sx1=5

Explain any five factors responsible for the development of ‘Mumbai-Pune Industrial
Region’.

17.  “fasa &l 90 Ufqerd SHE@T T8& T 10 Uiaed e &9 T Edl 8, Sdieh 99 10 i
STEEAT, S T 90 TP TIel & T @l € 17 U S0 Aied 39 FH i gt
HIT | 5x1=5

“90 percent of the world population lives in about 10 percent of its total land area, whereas
remaining 10 percent population resides in the 90 percent of its land area.” Support the
statement with suitable examples.

18. “9Rd | SEEA T FAWAF [I0T; G R Wiids T AHISTs Meh HReb & o
TS FaY Tohe AT & 17 ST ST ied 30 FHI &l I T | 5x1=5

“An uneven distribution of population suggests a close relationship between population
and physical and socio-economic factors.” Support the statement with suitable examples.

19. A9 T 9 1 MUT € 2 T [ & TR TR ol [a9eiqor iy | 1+4=5

What is human development ? Analyse the four pillars of human development.

20. “Fgdl §8 AT % HROT Ic4~T SToT 1 3THIE HHAd: R I FIH T A & 17 TH FIF M
forgeteoT it | 5

“Scarcity of water on account of its increased demand, possess possibility the greatest
demand in India.” Analyse the statement.

21. WER % ST T ISTiTae WET-AHes ¥ 5@ 70 9ie 9eiies @9 A, B, C, D 3R E &
TEIM HIST AT 37k Tt 11 A" & T8 TR i 98 ¥ 396 O @il T8 {@rsi .
%ﬁ'\@!': 5

(A) &FeT § JT T TH LT 39
(B) TaTeT Tueur = v &

(C) YR TEIEdIg Yo o i LI
(D) @ TSI 77
(B) S a1 U
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22.

Identify the five Geographical features shown on the political outline map of the World as
A, B, C, D and E and write their correct names on the lines marked near them with the
help of the following information :

(A) A large country of Europe in area.

(B) Anareaof subsistence gathering.

(C) The terminal station of a ‘trans-continental railway’.

(D) A major sea-port.

(E) Aninternational airport.

e : ARG TR e greaTea wtenteat o fw oo 9@ 21 % ©H W E
(21.1) I9 & GG 3TTeH A% et I HT AW fAfEy |

(21.2) TaTess Tueol & fodl U T &1F 1 A1 ffay |

(21.3) AETATE IR HEEIUE {9 o1 ol Uiyeel LI T T & 2

(21.4) SfeaoT SRR o YaT de W e ot Ueh Wy WSt gae @6 AW Ay |
(21.5) 3TSRISHT o e SRRV SR a1 U< 1 919 feaf@y |

Note : The following questions are for the Visually Impaired Candidates only, in lieu
of Q. No. 21:

(21.1) Name the largest country of Europe in area.

(21.2) Name any one major area of subsistence gathering.

(21.3) Which is the westernmost station of Australian Trans-Continental Railway ?
(21.4) Name any one major sea port located on the eastern coast of South America.

(21.5) Name the southernmost international airport of Africa.

YRA & 3T T AT Y@T-AHras § Fefaiad @ o Suga et 9§ g9y 3R 37
WW: 5

er\ o

(1) HAmgsh TRIhd T5T (2011) |

(il) HUTH HT SO IARH T |

(i) TS § e WieeaaT WRiTeh! Ut |
(iv) SaeTE | ferd e & ugg @ |
(v) Hich B Fed ereRised 9 oo |
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Locate and label the following features with appropriate symbols on the given political
outline map of India :

(i)  The most urbanized state (2011).

(i) The leading cotton producing state.

(i11)) The Software Technology park located in Punjab.
(iv) The major coal field located in Chhattisgarh.

(v)  The international airport located in Karnataka.
e ; ARG TR e gheaTea wtanteat o fw oo 9@ 22 % ©H W E
(22.1) ¥R 1 T 31eh TRIPd T B AT § 92
(22.2) 9RA % U & 3T SARH T HT A1 (ARG |
(22.3) USTE H e WTeeaR URniTest arsh o1 A fef@y |
(22.4) ST | e S H 7 @H S AW f@Ey |
(22.5) FAleH T o R a1 oo & 19 fefau |

Note : The following questions are for the Visually Impaired Candidates only, in
lieu of Q.No. 22 :

(22.1) Which is the most urbanized state of India ?

(22.2) Name the leading cotton producing state of India.
(22.3) Name the Software Technology park located in Punjab.
(22.4) Name the major coal field located in Chhattisgarh.

(22.5) Name the international airport located in Karnataka.
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U ¥, 21 & faw aEtas
Map for Q. No. 21
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Map for Q. No. 22
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